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________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Step 1: How the decision tree works
A decision tree traces an _________________________ outcome of a decision, the results can be compared and the business can decide which _____________________ would be the most _____________________________
This is a _____________________________________ approach (means it uses numbers) it is pictorial as it’s in the shape of a tree and it predicts the best bet _________________________ so a business knows what to spend its money on
The data is usually based on ___________________________ data from the business, for example they would know the probability of success of launching a new product would be 20% based on previous ________________ launches and how _______________ they had turned out
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Step by step how to draw a decision tree









Example 1 – complete the treeLaunch a new product
Start a marketing campaign on the old product
A
B
Success
Success
Failure
Failure
0.2
0.8
0.4
0.6











Example 2 complete the tree
Launch a new product £1 million
Start a marketing campaign on the old product
£0.7 million
A
B
Success
Failure
Failure
0.2
0.8
0.4
0.6
£20 million
£1 million
£7 million
£1 million
Success
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Bob’s farm example decision tree - can you complete the tree?
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Limitations
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Just complete the calculation on this question as you don’t have the full case study. 




[image: ]

[10]

image3.png




image4.png
Bob’s farm example decision tree

« Bob decides to grow some fruit and veg in a field on his
farm. He can’t make up his mind so he is using a decision
tree.

+ He could plant lettuce 0.6 chance of a good crop netting a
£50,000 profit and 0.4 chance of a bad crop but still
getting a £10,000 profit. This option will cost him £10,000
to plant, tend and harvest.

+ Or he could plant strawberries, with a 0.5 chance of a
£40,000 good season’s profit and a 0.5 chance of a bad
season making just £5,000. This option is less expensive
at just £5,000.

« Draw a decision tree — which option should Bob pick?
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SKA Textiles has constructed the decision tree below to decide whether to invest in new
machinery or increase is training budget.

Success
£20m
07
Investin new machinery —
(10m)
Failure.
£5m

=
s
.
=
Increase training budget
-
=

2 (a) Using the data above, calculate the expected value and net gain of each option.
You are advised to show your workings.
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(a) Using the decision tree and other evidence, advise Butler Adams how he should
proceed.

Market Reaction Net Outcome

Good £500 000

Moderate £200 000

~~ Poor £50 000

Good £600 000

— Moderate £25 000

~ Poor £1 000

Good £200 000

Moderate £100 000

= Poor £10000

Good £50 000
02 -

02 — Moderate £20 000

06
~. Poor £10 000

Market Reaction Net Outcome





image8.png
A Crisis Made in Japan
In Japan there is a proverb, “If it stinks, put a lid on it".

The recent series of safety problems has been a public-relations nightmare for Toyota, as
two of its distinctive capabilities could be considered to be quality and reliability. It is not
surprising that Toyota’s response to the issues has been slow: because crisis management
in Japan is grossly undeveloped. Usually, producer interests trump consumer safety.

There is a cultural element to Japanese companies mismanaging crises. The shame and
embarrassment of owning up to product defects in a nation obsessed with craftsmanship
and quality makes disclosure and assuming responsibility difficult for employees. And a
high-status company like Toyota has much to lose since its corporate face is at stake.

There is also a culture of deference inside corporations that makes it hard for those
lower in the organisational hierarchy to question their superiors or inform them about
problems. The focus on consensus and group is an asset in building teamwork, but also
can make it hard to challenge what has been decided or designed. Such characteristics
are not unknown elsewhere around the world, but they are exceptionally powerful
within Japanese corporate culture and constitute significant barriers to averting, and
responding to, a crisis.

There are signs that, at Toyota at least, this attitude is changing. This week company
president Akio Toyoda, grandson of Toyota’s founder, testified before U.S. lawmakers,
specifically alluding to how changes in the business’ corporate objectives may have
contributed to the need for a recall:

“l would like to point out here that Toyota's priority has traditionally been the following:
first safety; second, quality; and third, volume. These priorities became confused, and we
were not able to stop, think, and make improvements as much as we were able to before,
and our basic stance to listen to customers’ voices to make better products has weakened
somewhat... We pursued growth over the speed at which we were able to develop our
people and our organization, and we should sincerely be mindful of that. | regret that this
has resulted in the safety issues described in the recalls we face today, and | am deeply
sorry for any accidents that Toyota drivers have experienced.”
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Assess the usefulness to Toyota of using decision tree analysis when it considered
recalling its products.
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Assess the usefulness to Toyota of using decision tree analysis when it considered
recalling its products.
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